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The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is
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The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 c¢m, the length of the open organ pipe is

(1) 12'5cm

(2) 8cm
(3) 13-2cm
(4) 16cm

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2-76 x 10726 kg

Boltzmann’s constant kg = 1-38 x 10722 J K1)

(1) 5016x10*K
(2) 8360x10*K
(3) 2508 x10*K
(4) 1254x10*K

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 625%

(2) 20%

(3) 26:8%

4) 12:5%
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(1) 125cm
(2) 8cm
3) 132cm
(4) 16cm
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(1) 5016x10*K

(2) 8360x10*K

(3) 2508x10*K

(4) 1254x10*K
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1) 625%

2) 20%

3) 268%
4) 125%
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A carbon resistor of (47 £ 4:7) kQ is to be marked
with rings of different colours for its
identification. The colour code sequence will be
(1)  Yellow — Green — Violet — Gold

(2) Yellow — Violet — Orange — Silver

(3) Violet — Yellow — Orange — Silver

(4) Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1 20

2 11
(3) 10
4) 9

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
each) which are connected in series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?
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10.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) i=sint (1J
1)

(2) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

(3) Reflected light is polarised with its electric

vector parallel to the plane of incidence
4) i=tan’ (1J
u

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

1) 2:1mm
(2) 1'9mm
3) 1-8mm
(4) 1'7mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1) large focal length and large diameter
(2) large focal length and small diameter
(3) small focal length and large diameter

(4) small focal length and small diameter
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11.

12.

13.

14.

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

1 2:-1
2 1:-1
3 1:1
4 1:-2

An electron of mass m with an initial velocity
;;:Voli\ (Vo > 0) enters an electric field
E =— EO/i\ (Eg = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

(1 At

eEO
2) Ayl t
(2) 0 ( + mVO j

half-life is
10 minutes. If initially there are 600 number of

For a radioactive material,
nuclei, the time taken (in minutes) for the

disintegration of 450 nuclei is

(1) 30
(2) 10
3 20
4) 15

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5v;, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v; to vy is

1) 4:1
2 1:4
3 1:2
4 2:1
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ACHLA/AA/Page 5

SPACE FOR ROUGH WORK

English/Telugu



15. In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The
values of Ig, I; and B are given by

20V
(1) Ig=20uA, Io=5mA, B=250
(2) Ig=25pA, Io=5mA, =200
(3) Ig=40pA, Io=10mA, B =250
(4) Ig=40pA, Io=5mA, =125

16. In a p-n junction diode, change in temperature
due to heating
(1) does not affect resistance of p-n junction
(2) affects only forward resistance
(3) affects only reverse resistance
(4) affects the overall V — I characteristics of

p-n junction

17. In the combination of the following gates the
output Y can be written in terms of inputs A and
B as
Ae L
Be [ o Y
(1) A.B+A.B
(20 A.B+A.B
3 A.B
4 A+B

15.

16.

17.
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18.

19.

20.

21.

An em wave is propagating in a medium with a
velocity V = V/i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) -y direction

(2) + z direction

(3) —zdirection

(4) —xdirection

The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 30°
(2) 45°
(3) 60°
(4) zero

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards

the mirror, the displacement of the image will be
(1) 30 cm towards the mirror

(2) 36 cm away from the mirror

(3) 30 cm away from the mirror

(4) 36 cm towards the mirror

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 1-389H
(2) 13888 H
(3) 0138H
(4 13-89H

18.

19.

20.

21.
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BwE), (D5
(1) 1389H
(2) 13888H
(3) 0138H
(4) 13-89H
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22,

23.

24.

25.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) 10 times greater
(2) 5 times greater
(3) smaller

(4) equal

The electrostatic force between the metal plates

of an isolated parallel plate capacitor C having a

charge Q and area A, is

(1) proportional to the square root of the
distance between the plates.

(2) linearly proportional to the distance

between the plates.

(3) independent of the distance between the
plates.

(4) inversely proportional to the distance
between the plates.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 350m/s

(2) 339 m/s
(3) 330m/s
(4) 300 m/s
A pendulum is hung from the roof of a

sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

(1) 2s

2 ms
3) 2ms
4) 1s

22,

23.

24.

25.
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26.

217.

28.

29.

A metallic rod of mass per unit length
0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in

the rod to keep it stationary is

(1) 1476 A
(2) 598A
(3) T14A
(4) 11-32A

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational work

potential energy. The

required to do this comes from

(1) the lattice structure of the material of the
rod

(2) the magnetic field

(3) the current source

(4) the induced electric field due to the
changing magnetic field

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

1 274W
(2) 043 W
3 079W
4 113W

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 250Q

(2) 25Q
(3) 40Q
(4) 500Q

26.

27.

28.

29.
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30.

31.

32.

33.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
l ()
1
A
7
1) =D
(1) 5
2) D
3
3) =D
(3) 2
5
4) -D
(4) 1
Three objects, A : (a solid sphere), B : (a thin

circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed o about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) WB > WA > Wc

(2) Wp>Wg>Wgq

3) We>Wg>W,

(4) Wpo>We>Wg

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

1) 08

(2) 025

3) 05

(4) 04

Which one of the following statements is

incorrect ?

(1) Frictional force opposes the relative motion.

(2) Limiting value of static friction is directly
proportional to normal reaction.

(3) Rolling friction is smaller than sliding
friction.

(4) Coefficient of sliding
dimensions of length.

friction  has

30.

31.

32.

33.

Foosm IFodRAE &) o8 5P (deosnd
TS Do) @6?6850 3"@23@03 h J&H00d
5B, AB = D TGOBT K@ a8 K)@a;é) )
B5050 JrORHT h &

h B
o
l A
SIS
@ D
3) %D
@ 2D

28 (555078 M 50000 3‘”5(0(5;333 R 5OAS $0¢H

S, A : (a8 @Jaﬁﬁsoﬁsﬁw) : (8 Denised

g@@os-ocs Dg) 20 C: (25 HTTE dorv) 28
San $5EE o esgmnsm 3@;&;;@5) (zre3

FRTEID oeay) 63D Eod 233 B

BoHBeD Sk (W) &3 ;’Jqsmw 5022065520

EOA t%SDOJJ

(1) Wg>W,>Wg

(2) Wo>Wg>Wg,

3) We>Wg>W,

(4) W,o>Wg>Wg

m (S8 2.8 B3y 9 REOM €5 4m (B950°3ro
6 0mE ePErssn30050. 805 05y
@é’)mém ST IE0d PBI SNV, 3O
O%y By, O Jndw v Sonss DTG
09EY) (e) Jend
1 08
2 025
3) 05
4 04
5 808 ISBIN0S” DB SBy ?

(1) 080 2030 FF HSIN% $8830w%0%.

(2) §®§ Soges A3, HSF0B Do ©9E)O0L)
B8 S50 S SrRTSns’ &0t

(8)  1@Isoed 0es el 0ges 083 S8 5.

@) & g 0SSN S0 EDHo
D000 DR
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34.

35.

36.

37.

A toy car with charge q moves on a frictionless
horizontal plane surfacgunder the influence of_>a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 1m/s, 3-5m/s
(2) 1m/s, 3m/s
(3) 2m/s, 4m/s
(4) 1-6m/s, 3m/s

A block of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 0
for the block to remain stationary on the wedge
is

A
2
a
m

C B
(1) a=gcosH

g
2 =
@ a sin 0
3) a= 2

cosec 0

(4) a=gtan®
The moment of the force, F = 4 i+ 5J - 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
1 -7i-8j -4k
AN A A
(2 -4i-j -8k
AN A A
(3 —-8i-4j -7k

A A A
4 -71i-4j -8k
A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0-053 cm
(2) 0-525 cm
(3) 0521 cm
(4) 0-529 cm

34.

35.

36.

37.

q AT DESOR KOAS & &Sy T ¥ 68 ey

%
S8 E  @Serssnd’d el 2ogndd §8a S8rosy

&POBOBVP SDHOOWHID. 1 VED o5&’ qE 2OB0
S0% T DB Py Dod 6 mis H DOACH. &
ROSEINE S TG OFD  &@Wod0. B
8508 5 8 2 VEeo 50900, WD) oA 3
WEe HHES ¢ Fiy TH Gy, SN0 3w
BBAH BORO B ST

(1) 1m/s, 3-5m/s
(2) 1m/s, 3m/s
3) 2m/s, 4m/s
(4) 1-5m/s, 3m/s

0 Seoxn Jnx &) of domusn ABC p neosnd
SRS DSBSV 28 m @5;550"% S} (5853&833 &08)0.
lowosnsn @ SOnsnd  HAEZY e
Sormesnd D@08 RBS° GokKonerdd a oA 8o
;§Jq55 S0E 300D @oaaocssﬁaa

A
2
a
0
C B
(1) a=gecosH
g
2 =
@ a=200
3) a= 2
cosec 0

(4) a=gtan6
(2, 0, - 3) Doty S F =48 +5J _ 6k 330,
2,-2, —2) é’)ocﬁa@ iﬁJéJT 2O (ETP0EHW
(1) _71 —8] —4k
(2) —41 - J _8k
3 _8i —4J _7k

A A A
(4) -7i-4j -8k
&5 D078 0-001 cm DY) ST HOAS (07,7
&BATFA0Y &5 D) &), B0H By, TgRB0M
SONTCH. Wod e 8&oH 5 mm $HB0K
STTED w00 DT saamm 25 5 JgriSnsS
SN0 (ITF F00R). eEIF (@ Re Bo¥),
0% E550 — 0004 cm oSS @6033(6

eaoé’é TR0

(1) 0-053 cm
(2) 0-525 cm
(3) 0521 cm
(4) 0529 cm
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38.

39.

40.

41.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Rotational kinetic energy

(2) Moment of inertia

(3) Angular velocity

(4) Angular momentum

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Kg<Ky<Kg
(2) Kp>Kg>Kg
3) Kp<Kp<Kg
4) Kg>K,>Kg

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) Time period of a simple pendulum on the
Earth would decrease.

(2) Walking on the ground would become more
difficult.

(3) Raindrops will fall faster.
(4) ‘g’ on the Earth will not change.

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K; : (K; + K,) for
the sphere is

(1) 10:7

(2) 5:7

3 7:10

4) 2:5

38.

40.

41.

08 ] FUsm 83 FPTEI0mey  Jgyw
BDIODBD  (OTTHsS’). (9508
SO FFID oY), T EBNDH DOVTD. S
00 Q FASTE FFINDD H0woRoDH HYIBIT
&0

(1) gisoes 1858

(2)  e&Sg (P8I0

(3)  Sedan Do

(4)  Sedom (555 D

25 U550 Gy, ¥8 OISHan 8 (Retd
SHer) A, B S00an C Fddweo 56 Ky, Kp
50000 Koo AC @058 Oomgsdn ©dokn SB
@30 AC & oodn () wFSsn S 9¢
Be508° DS deorr. wond

0D

(1) Kg<Ky<Kq

(2) Kp>Kg>Kg

B) Ky<Kg<Kg

(4) Kg>K,>Kg

e Y Srg  (3S550m8 10 ey S 0P0G,
FEIDE T ?(gU"o&“)oa 10 St 50
(D05rers’) won Godd, & ($odT S D&
DOGDHHE 3760 ?

(1) op&ossn Gy, &EoTdys
P SHA.

(2) e BeEHE0 KD SPKR.

(3) YD DotopHen %D IeE BED.

(4) 2 g end SFTE .

28 M REsn (ghie Sossn DAsd.

@0 TosHNS®  SHHIH E seosnd’

LTOBGEs MDD (Kp) D000 (@500 Mssm

(K,) SOAcootd. Fesn Bog), K @ K, + K)

%G

1 10:7

(2 5:7

(3) 7:10

4) 2:5
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42.

43.

44.

45.

A small sphere of radius v’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1 1
@2 1
3
4 r*

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength %7»0, the power radiated by it

becomes nP. The value of n is
256
1 290
1 31

(2)

3

o Bl | w

1

(4) 556

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 4F
(2) 6F
3) 9F
4 F

A sample of 0-1 g of water at 100°C and normal
pressure (1-013 x 10° Nm™) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 4224d

(2) 208:7dJ

(3) 104-3J

(4) 8454J

42.

43.

44.

45.

T TGS Mo o8 Fesn (D%) dEod 28
5008 28 HyfE (BHINE HESH. Yo 2B
$05, O PISomr @0 &gEn  HERD.
P50 SEINB0D FOBINE &Sy @wond
&G Ben IS S SrrS50SE” &0t
@

(2) 2
3 1°
@
2.5 5PS0D) GOoDS D oPssn P 5odakn &
Mo BBONBYH0 $G MOR 8 SO, T
PSS 570y 1O, ¥8D %xoécso@gm 5
Forreod]  ©d  GORY) FEEo  nP
£955)E008. ©oNS n VD

256

(1) a1

(2)

6))

oo o |k

81
@ o
28 ISP Dorgsns  Jabwds  Sowdrio
DOSIOBTPEBD DICBB. Boesed A Bocsy IS
STOF0 A 500 SOUEST SEEHE T 5N
3A. F 20505 ©Arhod 300c5ed S o,
PEDNS Al B DOSHOAS, @08 5D

20tHe0E" Tods SIf T SOVT 2OHW

(1) 4F

(2) 6F

3 9F

4 F

100°C Sif5 &3y 01 g DedD Fqrie pesds
(1-:013 x 10° Nm™) )6 100°C S €20
TErEGH 54 350w sHodiui. D00
SIODNE), 5 HOLreeHn 1671 cc ©ond
IS 0By FEED St

(1) 422J

(2) 2087J

(3) 104:3J

4) 8457
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46.

47.

48.

49.

50.

51.

The correct order of N-compounds in its
decreasing order of oxidation states is

(1) HNO,, NH,CI, NO, N,
(2) HNO,, NO, NH,Cl, N,
(3) HNOj;, NO, N,, NH,CI
(4) NH,CI, Ny, NO, HNO,

Which one of the following elements is unable to
form MFG3 “ion ?

(1) B

(2) Al

(3) Ga

4) In

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Mg

(2) Zn

(3) Fe

4) Cu

The correct order of atomic radii in group 13
elements is

1) B<Ga<Al<Tl<In

(2) B<Al<Ga<In<Tl

3) B<Al<In<Ga<Tl

4) B<Ga<Al<In<TI

Which of the following statements is not true for
halogens ?

(1) All but fluorine show positive oxidation
states.

(2) All are oxidizing agents.
(3) All form monobasic oxyacids.

(4) Chlorine has the
enthalpy.

highest electron-gain

In the structure of ClFg, the number of lone pairs
of electrons on central atom ‘Cl’ is

(1) four

(2) two

(3) one

(4) three

46.

417.

48.

49.

50.

51.

esdy55m JEesR Es0s” N-sdysore ©8g0s
EERE

(1) HNOjg, NH,CL, NO, N,

(2) HNOg, NO, NH,CL, N,

(3) HNOg, NO, Ny, NH,Cl

(4) NH,CL Ny, NO, HNO;4

god Swrosed’ DO MF.  oarrd D59

PO ?

1) B
2) Al
3) Ga
(4) In

DQON T HNeTe TgTr, WerEbIEon 508

BoBS TS DA GITPATD ?

(1) Mg
(2) Zn
3) Fe
(4) Cu

(D) 13 Swrestod’ DESrE TErTe SOEHS
50500 ?

(1) B<Ga<Al<Tl<In
(2) B<Al<Ga<In<TI
B3) B<Al<In<Ga<Tl
(4) B<Ga<Al<In<Tl

S sSe 00D (508  ISTed’ ¥

507

(1) FO5 8y DD 655 edyssn o
LTDT0W.

(2) o @§Q§6e@ SUsEeD.

(3) @) D530 @58y esrom DByHIow.

@ §85  d0R doFd
€0e000.

LTT"?/J"ZS QOCE"@J

CIF3 o008 3o H85rend) CI
2,088 23880 Q@gﬁ@ Dogy

1) TPio

(2) Coto

(3) a5l

(4) dorto

&)
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52.

53.

Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
ICl4

A
@ + CHzCH,CH,Cl ———=—
(i) 0,

P—"—F>Q+R
(i1) H3O*/A

P Q R
CH(CH,), OH
(1) ©/ ©/ CH;CH(OH)CHg4
CH,CH,CHg CHO COOH
JeNeNe
CH,CH,CH;  CHO
@ ) cnen,-on

CH(CHy),

4) CH; - CO — CHj

o O
O

Which of the following compounds can form a

zwitterion ?
(1) Benzoic acid
(2) Acetanilide
(3) Aniline

(4) Glycine

52. @od St DSodses” whsorr I5E P, Q, R

KIevh-p SR Velotnlelat

@3"@

AICL,
@ + CH4CH,CH,Cl ———2—»

(i) Oy

—2 ___>Q+R
(i) HyO*/A

P Q R

CH(CHy),

OH
@ CH;CH(OH)CH,

CH,CH,CHy4 CHO COOH

Q0.0

CH,CH,CH; CHO

) cnen,-on
OH
CH(CH,),
) @ CH, - CO — CHy

od ¥AyrTrod” Bid wars GO 20 ?

(1)

(3

53.

(1) BoFonf exo

(2)  eTIBE
3) 2208

4) BDS

P3=y
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54.

55.

56.

57.

58.

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(1) Examples are bakelite and melamine.

(2) They are formed from bi- and tri-functional
monomers.

(3) They contain covalent bonds
various linear polymer chains.

between

(4) They contain strong covalent bonds in their
polymer chains.

Nitration of aniline in strong acidic medium also

gives m-nitroaniline because

(1) In absence of substituents nitro group
always goes to m-position.

(2) In electrophilic substitution
amino group is meta directive.

reactions

(3) In spite of substituents nitro group always
goes to only m-position.

(4) In acidic (strong) medium aniline is present
as anilinium ion.

The difference between amylose and amylopectin

is

(1) Amylopectin have 1 — 4 o-linkage and
1 — 6 p-linkage

(2) Amylose have
1 — 6 B-linkage

1—>4 o-linkage and

(3) Amylopectin have 1—4 o-linkage and
1 — 6 a-linkage

(4) Amylose is
galactose

A mixture of 2-3 g formic acid and 4-5 g oxalic

acid is treated with conc. HySO,. The evolved

gaseous mixture is passed through KOH pellets.

Weight (in g) of the remaining product at STP

will be

made up of glucose and

(1) 28
(2 30
(3) 14
4) 44

Which of the following oxides is most acidic in
nature ?

(1) BaO
(2) BeO
(3) MgO
(4) CaO

54.

55.

56.

57.

58.

SSR wg 85 wos FOWbo MBod (§od
58008 DB HOTHHE T%b ?

(1) BESES, DO GTTEerD.

(2) ©d B DO (H- HDOH HIWETFLD
BT 0EeE ytsrow.

3) 3 I BPad FHE  Fopore Bgs
BB D aHI0T e EosTom.

@) 8 2006 Foporos”
D80G DAD 0T SOLTOX.

20D SATIZ0S” WOS  JEBSS” m-pe’

DS e g8 52800

(1) BZITe B3ptd JETVBFT0 Dy
m-F08 Fe0d.

(2) JoENOE PIFIe SLES IWT BHTo
e JFLo0.

(3) PIFTITL G09ed8 e BT IFped
m—ﬁ;s‘@é DDA,

@ e (p0p8)  arsses’
AOJAHO WATFSTT &oLnos.
DED 0 IPSDES B¢s By

(1) Q;;_JGS’S§J§5 1> 4 a-22050 1 — 6 B-25050
(2) IPS’HS’ 1 - 4 a-220850 $HOATD
1 — 6 B-20080 €0eT° 0N
(3) IS 28SE° 1 - 4 020850 SO
1 > 6 0-2080 &OI° 0N
@) 1FE 0o mofdE JPSE S
©HBoH
23 g 5  eo Hda 45g esHIE
sRI00  DEED) ™E. HyS0, & eduss
BOS3G00.  ADEO0NY  TOWHO  MEFIE)
KOH 2 8¢ or0° Hokeéod. AdS @airedso

grdo (g) STP 3&

0O

'S

(1 28
(2) 30
3) 14
(4) 44

Bod &5 o8’ KO epdss BeETSBnsed 6 ?
(1) BaO

(2) BeO
3) MgO
(4) CaO
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59.

60.

61.

62.

Which oxide of nitrogen is mot a common
pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) N0

(2) NOgy

(3) NyOj4

(4 NO

The compound A on treatment with Na gives B,

and with PCly gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,H,Cl, CyHg, CoH50H
(2) CyHsOH, C,H,Cl, C,H;0Na
(3) C,HsOH, CyHg, CoH,Cl

(4) C,HsOH, C,H;ONa, C,H5Cl

The

reactions :

compound C;Hg undergoes the following

3 Clz/A BI'z/Fe Zn / HC1
A B

C,Hg C

The product ‘C’ is

(1) 3-bromo-2,4,6-trichlorotoluene
(2) o-bromotoluene

(3) m-bromotoluene

(4) p-bromotoluene

(A)
substitution to form an alkyl bromide which by
Wurtz
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine by

reaction is converted to gaseous

atoms. (A) is

(1) CH;-CHj
(2) CH,=CH,
(3) CH=CH
4) CH,

59.

60.

61.

62.

©E5S dgorr, SrsY KyTEes S 00603 &g
ST°g5e008"8 BoSE FETETOX0 520 TS
€3§Q§ 26 ?

(1 NyO

(2) NO,

(3) NyO;

4 NO

$3y¥50 A, Na & @f35E B coiyod $0050
PCl; & C onoiod, B S00ai» C S0 s 200
G335 &b DBy HE0d A, B, C o (Ek05w

(1) C,H,Cl, CyHg, CoH50H
(2) CyHsOH, CyH,Cl, C,H;ONa
(3) C,HsOH, C,Hy, CoHCl

(4)  CyHzOH, CoHzONa, CyH;Cl

250 C7Hg 808 S8508" r&0enod :
3ClL/A Bry/Fe _ 7Zn/HCI

s A—2—>B= c

7Hg
BR0yFH0 ‘C A8 ?

(1) 3-S5 -2,4,6-FEC 5705
(2)  o0-E3r ¢5°OS
(3) m- SR 5O
4) p-E3r OS5

BZDe T TETES (A) (FSE S5 220D
8BS & G, b &by 85 oo
TID THS  DEIrwHm K S5 &)
AN FETHOT SrDR0808. (A) Doel ?

(1) CHz-CHj
(2) CH,=CH,
(3) CH=CH
(4) CH,
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63. Which of the following molecules represents the

order of hybridisation spz, spz, sp, sp from left to

right atoms ?

(D
(2)
3
4)

CHy=CH-CH = CH,
CHy=CH-C=CH
HC=C-C=CH
CH3-CH =CH - CHyg

64. Which of the following carbocations is expected to

be most stable ?

o)
(2)
3)
4)

H

NO,
Y; ®
NO,
Y H
NO,
Y H

NO,

<o

65. Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(D
(2)
(3
(4)

-NHy>-OR>-F
—NRy<-OR<-F
-NH; <-OR<-F
—NRy>-OR>-F

63.

64.

65.

Sod

(D
(2)
3)
4)

9£008 DeE50:5009) S0G&8
DESreE0S”  sp?, sp?, sp, sp 050550
0B 28 ?

CH, = CH - CH = CH,
CH,=CH-C=CH
HC=C-C=CH
CH; - CH = CH - CH,

8od  sE TLarses’
Ead70058 D6 ?

(D
(2)
(3
(4)

Y H

NO,
Y; ®
NO,
NO,

®
Y H

NO,

=< T

RIR Al

1 PrTd) Sro R8EsTes’ @od TS
50050 (R=ed)S) 2o ?

(D
(2)
3
(4)

-NH,;, >-OR>-F
—-NRy<-OR<-F
-NH; <-OR<-F
-NRy>-OR>-F
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66.

67.

68.

In the reaction

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

©
dichloromethyl anion (CHCl)

@
(2) formyl cation (CHO )

(D

®
(3) dichloromethyl cation (CHCl)

(4) dichlorocarbene (:CCl,)

Carboxylic acids have higher boiling points than
aldehydes, ketones alcohols of
comparable molecular mass. It is due to their

and even

(1) more extensive association of carboxylic
acid via van der Waals force of attraction

(2) formation of carboxylate ion
(3) formation of intramolecular H-bonding

(4) formation of intermolecular H-bonding

Compound A, CgH,(0O, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

{ M- CH-CHyand 1,
|
OH
©_ CHZ — CHZ —OH and 12

(D

(2

Hs

c
CH, G OH and I,

4)

66.

67.

68.

800 558" Jo§ S
OH O™Na*

@ + CHCly + NaOH ———> @ CHO

1) GEEWS 6;9?6055"5 (CH012

2) FGHS s (CHO)

@
(3) ZECWPS seoalrd (CHCly)

4) 356 6% (CCly

SOTEE ST «wdpheo, $5° S

S0y 305 wo)tee 508 5odds  eire
RIS P I Goerow. B S8E0
T3 By,

1) To&b 76 w5gn acrod I

DY Yo sond 8 esspo BiFSo
Inlelalhle)
(2)
3
(4)

9820 90858 H-220830 fDCSo)Céeoo
90858 e9eas H-200850 Dcﬁojchéoo

CgH 0 @3 2330 A, NaOI (Y, NaOH & 5
20D AHHod) & STy 20d  BHHHD
©IZHI0 whogrT RS TG0 SHddod.
A 50005 Y o0 35:m

¢ - CH - CHy sop050 I,
|
OH

¢ )~ CH, - CH, - OH suai T,
HyC )~ CH, — OH 560 I

CH,

CH, @ OH 5805 I,

(1)

(2)

(3)

4)
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69.

70.

71.

72.

73.

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column I
a. Co®* i. V8 BM.
b. O’ ii. /35 B.M.
c. Fe* iii. 3 B.M.
d N iv. 24 BM.
v. 15 BM.
a b c d
1) iv i ii iii
(2 i ii iii iv
(3) iv v ii i
(4) iii v i ii
Which one of the following ions exhibits
d-d transition and paramagnetism as well ?
(1) MnO,
2)  Cry02”
2_
3 CrOy
(4) MnO>~

Iron carbonyl, Fe(CO)j; is

(1) trinuclear
(2) mononuclear
(3) tetranuclear
(4) dinuclear

The type of isomerism shown by the complex
[CoCly(en)s] is

(1) Ionization isomerism

(2) Coordination isomerism

(3) Geometrical isomerism

(4) Linkage isomerism

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and paramagnetic
(2) tetrahedral geometry and diamagnetic

(3) square planar geometry and diamagnetic
(4) tetrahedral geometry and paramagnetic

69.

70.

71.

72.

73.

56 TS g0 &5 warsod 5o IS gy

WOPSO )0 WADIY0S (EHE0E eEHSD),
20005 56 (code) D 790G -
58351 5835 11
a. Co* i. 8 BM.
b. Crtt ii. 35 B.M.
c. TFe* iii. /3 B.M.
d. Nt iv. 424 BM.
v. /15 B.M.
a b c d
1 iv i ii iii
2 i i iii iv
3) iv v ii i

(4) il v i ii

o0 warsed” D0 d-d S05YT) B0

DOaHy WOy STabP oS SOA
&OL08 ?
(1)  MnO,
(2)  Cry02~
3) Cro;
4) MnO>"

2535 563 Fe(CO);

1) & 3oes

(2) O Soss

(3) 8¢5 2o0s

4) & Soss

[CoCly(en),] 50820 (BE0D Fe5yFEE0

(1) ©abISGe FEyH0

(2)  RHD0H D°e5yF50

(3) 38 FyF0

(4)  20¢ FrEydo

[NI(CO)4] 0850 @ny), &5)d Sodak

©ONT), 08 (DSTIe

(1) $HT BHS 858 Lo JT°
0T, 085N

(2) SErTEs 58 90k Gar
©ODT), 0S5

(3) HHT TS SHE HOOID AL
©ODT), 085N

@) 8er TES @5 oan $T°
0T, 085N
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74.

75.

76.

71.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL E HCI1 + 40 mL M NaOH
10 10

b. 55mL M HCl1 + 45 mLL M NaOH
10 10

c. 75mL M
5

HCIl + 25 mL % NaOH

d  100mL X mor+ 100 mL M NaoH
10 10

pH of which one of them will be equal to 1 ?
1) d

(2) a

3) b
4) c
On which of the following properties does the
coagulating power of an ion depend ?

(1) Both magnitude and sign of the charge on
the ion

(2) Size of the ion alone

(3) The magnitude of the charge on the ion
alone

(4) The sign of charge on the ion alone

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4:17, 0-244, 1-:36 and
3-59, which one of the following gases is most
easily liquefied ?

1) O,

(2) H,y

(3) NHj4

4) CO,

The solubility of BaSO, in water is
2-42 x 107 gL_1 at 298 K. The value of its
solubility product (Kg;) will be

(Given molar mass of BaSO, =233 g mol_l)

(1) 1-08x 1074 mo2 L2
(2) 108 x 1072 mol? L2
(3) 1-08x 107 mo2 1,2
(4) 1-08 x 107 mol? L2

74.

75.

76.

71.

HCI 353
59 Eod

NaOH $508a5»
S0S5508TeTen
BoH2a&8D

TESO D I
@Hegren AR

a. 60 mL HCI + 40 mL iVI_O NaOH

M

b. 55mL HCI + 45 mLL 10 NaOH

S I

c. 75 mL HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

2 (58508’ B pH e 1 D558 55808

1 d
(2) a
3) b
4) ¢

28 OalrS  Hus FHPe od Ted 3R

e3R8 DO

(1) word p Go) e5¥o 08 S0a
30577600 Bo0e3 DS

(2) OIS DB S

(3) walrS PP &) e3P0 DOSr0 WS
SOIERY

(4) ©Ord P &) 8IF0 MNP S

NH,;, H, O, 8a» CO, © Troud oy

QTOS0 HWIT 4:17, 0-244, 1:36 SO0 3:59. s

208 TaHeS” oo (($DEB0HED D& ?
(1) 0O,

(2) H,

(3) NH;4

(4) CO,

298 K 56 ¢36° BaSO, (@=5e3008

2:42 x 1072 gL7L. o0 (@sedabe ogin (K).
(BaSO, 3ro-b (5395078 = 233 g mol )

(1) 108x 10 * mol®> L2

(2) 108 x 102 mol? L2

(3) 108 x10 1% mo1? L2

4) 1-08x 10 mol? L2
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78.

79.

80.

81.

In which case is the number of molecules of water

maximum ?

(1) 0-00224 L of water vapours at 1 atm and
273 K

(2) 0-18 g of water

(3) 18 mL of water

(4) 1072 mol of water

The correct difference between first- and

second-order reactions is that
(1) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(2) the half-life of a first-order reaction does not
depend on [A]); the halflife of a

second-order reaction does depend on [A]

(3) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(4) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

Among CaH,, BeH,, BaH,, the order of ionic
character is

(1) BeH, < BaH, < CaH,
(2) CaH, < BeH, <BaH,
(3) BeH, < CaH, <BaH,
(4) BaHl, < BeH, < CaH,
Consider the change in oxidation state of

Bromine corresponding to different emf values as
shown in the diagram below :

1-82V 15V
—

BrO, BrO; ——> HBrO

Br «<———— Br,

1-0652 V 1-595V

Then the species undergoing disproportionation
is

(1) Bry
(2) Bro;
(3) Bro;
(4) HBrO

78.

79.

80.

81.

D R8BS’ &3 wenHo Vogy HOPE® ?

(1) 1 atm 000 273 K 5¢ 000224 L © e3
€800

(2) 018ge A

(3) 18mL ©

4 1073 3rSo AW

B850 S0y Toks EXroy S K¢k OGS

FesSm

(1) B3 E5ros 38 &@ySe  DabISy;
Bt EBr08 U5 €@y DA

(2) ©@ ESros I eTand (Al 2
SEUBEE ToKS EIro8 S8 eTao)
[Al, 2 B8 DO

(3) g% Eiros WGy Cen @A ®ITO
TESY S0 Hey; BOES EIroY St
Bt O e30TOMPES D eSS0

(4) B35 Eros BKy Senv @l @SS
TES SEPY BIHB000; Bokd E5ro¥ Bt
Bt oresdsee MK el D

CaH,, BeH,, BaH, 9¢38° @0airdf oFes E5050
(1) BeH, < BaH, < CaH,
(2) CaHy < BeH, < BaH,
(3) BeH, < CaH, < BaH,
(4) BaH,; < BeH, < CaH,

B08 HHNS SrHS I I emf IFOH
eSErvor (S  edstn e Srtine

1150003508

- 182V - 15V
BrO, — BrO3 ——> HBrO

Br

10652V T2

©ONBEIONT WBF0rS 85 WOR &8
(1) Br,

1-595 V

(2) BrO,
(3) BrOg
(4) HBrO
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82.

83.

84.

85.

86.

For the redox reaction
MnO; +Cy0%” + H' —— Mn® + CO, + Hy0

the correct coefficients of the reactants for the
balanced equation are

MnO, C,07~ H'
1 2 16 5
2) 2 5 16
(3) 16 5 2
4 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g8) +By(g) = Xo(g) AN H=-—XkJ?
(1) High temperature and high pressure
(2) Low temperature and low pressure
(3) Low temperature and high pressure
(4) High temperature and low pressure

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) 1istripled
(2) 1is doubled
(3) 1ishalved

(4) remains unchanged

The bond dissociation energies of X5, Y, and XY
are in the ratio of 1 : 0-5: 1. AH for the formation
of XY is — 200 kJ moll. The bond dissociation
energy of X, will be

(1) 800 kJ mol™*

(2) 100 kJ mol™!

(3) 200 kJ mol™!

(4) 400 kJ mol ™

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) electric field present between the gas
molecules

(2)  volume of the gas molecules
(3) density of the gas molecules

(4) forces of attraction between the gas
molecules

82.

83.

84.

85.

86.

6&?5‘3 n[e)g
MnOj +Cy02” + H'—— Mn®* + CO, + H,0
oo DD HWET0S” Garasse $SOEI

alacisiloN

MnO, C,07~ H'
1 2 16 5
2) 2 5 16
3 16 5 2
(O 16 2

Ay () +By(®) =Xy (g) AH=-XkJ

2 UGS w80y edBo 5y Eerdd  $od
50RBE” DI DIT00 ?

(1) B &S S0 @Y S0

(2) oy &S 00 @y DES0

(3) @0y &S S0 @Y S0

(4) 0 GIEUTSE 00 BOBES0

Saresdso 0y g S$00e0) IPLond
KoeiSy P08 STADD)

(1) Soed BeHEod

(2) TEJoDd @b

(8)  DBN 9HHBod

(4) SPOEHOG ©oB GoLVOd

Xy, Yy 30050 XY © 20§ JId0resd $90 I9g
1:05: 1. XY DOED AH AENJ
—200 kJ mol™l. X, 230¢5 DSTress ¥

(1) 800 kJ mol !

(2) 100 kJ mol !

(3) 200 kJ mol™
(4) 400 kJ mol™!

SEY) TANHO BEG0S” BHe ©oFsn @’ 3
30 ErdB00038

(1) oy Lo D¢ €d) S FESd»

(2) P00 YN $0IHD0°e00

(8) T°OIN ©9eHO oSS

(4) PO €LY :53(55 eﬁégsa 20PN
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87.

88.

89.

90.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN°
(2) CN~
(3) NO
(4) CN

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 1s? 252 2p3, the simplest
formula for this compound is

(1) MgyX
(2) MgX,
(3) MgyXq
(4) MggX,

Iron exhibits bcc structure at room temperature.
Above 900°C, it transforms to fcc structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

(D
(2)

3

4)

Which one is a wrong statement ?

sl 2 B

(1) The electronic configuration of N atom is
1s2 2s2 Zpi QP; Zp;

Pt L

(2) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(3) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.
(4) The value of m for d 2 is zero.

87.

88.

89.

90.

208 o H$089050s ¢
CN*, CN~, NO 58a0 CN
IS B0 BOGEO &HD B ?

(1) CN*
(2) CN~
(3) NO
(4) CN

foo, swrefo X) & SETod wards
B3pF0  AOHR0D. X) GrpdE  Jogd
DT00 1s2 252 2p? 900S SRRUACRCT g el

@“d’)&@"’

(1) MgyX
(2)  MgX,
(3)  MgyX,
4 MgsX,

HO GRS 085 bee ATYETYy (6808, 900°C S
©d fee ITErS’S SrERoHH0d DES MO LS
5 WOA  900°C $¢ Fose G (285 0o
G308 0 BESrEw TTw SPESE St
DoEE HBore Goerow)

3J3
442
43
3v2

(D

(2)

3

(4)

“= sl

DB DOAD IBed T°H ?

(1) N 385,e0%) Q@LSSS TG0

1s2 252 Zpi QP; Zp;

tol M) [P

(2) SORrSH Hord SO0 Hoges XrdYy
385055 QOTO T 0L
Sogs WrOREm.

3) ¥ SOerdEd Jozmd
(5RO 0B B0

(4)  d,2 % mIeod d).

3080 Sedad
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91.

92.

93.

94.

95.

96.

97.

Oxygen is not produced during photosynthesis by
(1) Cycas

(2) Nostoc

(3) Green sulphur bacteria

(4) Chara

Double fertilization is

(1) Fusion of two male gametes with one egg

(2) Fusion of one male gamete with two polar
nuclei

(3) Fusion of two male gametes of a pollen tube
with two different eggs

(4) Syngamy and triple fusion

Which one of the following plants shows a very

close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Banana

(2)  Yucca
(3) Hydrilla
(4) Viola

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -196°C

(2) -80°C
(3) -120°C
(4) -160°C

Which of the following elements is responsible for
maintaining turgor in cells ?

(1) Potassium
(2) Sodium

(3) Magnesium

(4) Calcium

What is the role of NAD® in cellular
respiration ?

(1) Itis anucleotide source for ATP synthesis.

(2) It functions as an electron carrier.

(3) It functions as an enzyme.

(4) It is the final electron acceptor for anaerobic
respiration.

In which of the following forms is iron absorbed
by plants ?

(1) Free element

(2) Ferrous

(3) Ferric

(4) Both ferric and ferrous

91.

92.

93.

94.

95.

96.

97.

88eomids DHoddrr @ahd e;e%wéac‘éa €&DAIPA0
F35Q 2D

1) 55
2 oFs

(3) 508 $0y5 wrioar
4) gor

Bspo §5es (Double fertilization) e

(1) Cold DHLOD, Doadr i D 28 0G50
QDOBITIED BOLEO

(2) a8 DD Do Dessny  Botd Cﬁq)
SSoTrsres Hoddrio

(8) PN TFS) Both DD, DodBrK Deed
Bot DD OGPOE HOGITNDD DOES0

(4)  DoanE DoCIEHEN 000K (BHOAITINED

OIDDANEIES e 0%, &  (moth)
dossnd S8 voow) 59, Bodous O
258 6 8008 #d8 I XY Db
8 28

(1) e9t5ed

(2) sy,
(3) Ry
4) Soror

BIDD DD &8 GPUTS 5 IGad (K550’
(Liquid ~ Nitrogen) 5°0) Q03&Tr0  réw
$TBER DOg BODDE) ©d IO

(1) -196°C

(2) -80°C
(3) -120°C

4) -160°C

560 D8 AT &y Sreo
(1) BeTnoHo

(2) BE&aHo

3) 33?\500&)0

(4)  =°§abs®

See s %"ogé@ojo (cellular respiration) & NAD*
QP03 (S S5od

(1) ATP 2503:53¢a(% 33 @r&E& Sorodn.

2) JoFTS FTFEor FoS” F 9.

(3) JoEr BABADED.

(4) e9T°O5® %“og‘é@oii)e‘ig CD@L%O‘S §°§§g (Acceptor).
30%),e0 BN O SRS’ Farzon

(1) =orSe S0ros8sw (Free element)

2 SD

3) Dt

(4) SO 0axn HEE, 3o
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98.

99.

100.

101.

102.

103.

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1)
(2)
(3) Retrovirus
(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(D
(2)
3
4)

2 phage
Ti plasmid

Biodegradation

Biopiracy

Bio-infringement

Bioexploitation

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Research Committee on Genetic
Manipulation (RCGM)

(2) Council for Scientific and Industrial
Research (CSIR)

(3)
(4)

Indian Council of Medical Research (ICMR)

Genetic Engineering Appraisal Committee
(GEAC)

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(D
(2)
(3)
(4)

Denaturation, Extension, Annealing
Annealing, Extension, Denaturation
Extension, Denaturation, Annealing
Denaturation, Annealing, Extension

Select the correct match :

(1) T.H. Morgan -
(2) Fy x Recessive parent
(3)
(4)

Transduction

Dihybrid cross
Ribozyme — Nucleic acid

G. Mendel -

Transformation

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(1)
(2)
3
(4)

Lerma Rojo
Sharbati Sonora
Co-667

Basmati

98.

99.

100.

101.

102.

103.

D TEEES0 o°0° DNA 30%), 50208 0DFDEN
(Lymphocytes) &°8 ENlely PoplwilelcloTan 3(‘53(‘56%

1 AE

2) Tigné
(3) 3BT
(4) pBR 322

28 3¥5n o), H500965% o0l ¢5yNEse
BEedy B0 Dok Fo 0T, BODOBED
DIGEAOT 0T HOPey, SoHIW wHOoDND)
DTy DS0ETD

(1) 2AArEHER

(2) AT

(3) 22Ary0@OEI0LD

4)  DAFIEFoNIDS

TS D08 503 IAATETEAL e DaHeatH

wdoy Sr0yG8 &% @ (GMOS) Honods

S ITBOT DoP 8

(1) 6:28) 50ed e BIeIE 5rIHBIS (RCGM)

2) TS DO 20e3HE oo yodlnyahd
658y (CSIR)

(8) 30GADS NS D &S 636y ICMR)

(4)  B2e3E 30200R e(Honad e (GEAC)

FOTE BS (PCR) BoIrESE°D $8308 (55050

(1) IFgerdEse00, Ao, eamdoh
(2) @5&@05, FROY), IPgETdETes0
(3) FROY), IFErossen, wndoh

(4)  DTrErH8seso, @?Dﬁ)oﬁ, FROY)

BOGS 2B HO0YBW :

(1) 870, Srore - 2305000
(2)  Fyx 00358 a3 - 8088 D088
(3) BSE - SossPysm

(4) & okS - DORTI

BB OB wE HOESW)) BRFI0d, @D
Vool TTBITOTO0 0% &Ion XY
50550 38 BodIE

1) 8oy &

2) G5d FSo

(38) Co-667

(4) 223D
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104.

105.

106.

107.

108.

109.

110.

Which of the following pairs is wrongly

matched ?

(1) XO type sex Grasshopper
determination

(2) ABO blood grouping Co-dominance

(3) Starch synthesis in pea Multiple alleles

(4) T.H. Morgan Linkage

Select the correct statement :

(1) Spliceosomes take part in translation.

(2) Punnett square was developed by a British
scientist.

Franklin Stahl coined the term “linkage”.
Transduction was discovered by S. Altman.

(3)
(4)
The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Plant

(2) Bacterium

(3)
4
Which of the following flowers only once in its
life-time ?

(1)
(2)
(3)
4)
Offsets are produced by
(1
(2)
(3)
4)

Select the correct match :
(1) Matthew Meselson -

Fungus
Virus

Mango
Jackfruit
Bamboo species
Papaya

Parthenocarpy

Mitotic divisions
Meiotic divisions
Parthenogenesis

Pisum sativum

and F. Stahl
(2) Alfred Hershey and - TMV
Martha Chase
(3) Alec Jeffreys — Streptococcus
pneumoniae

Francois Jacob and Lac operon

(4)

Jacques Monod

Which of the following has proved helpful in
preserving pollen as fossils ?

(D
(2)
(3
4)

Oil content
Cellulosic intine
Pollenkitt

Sporopollenin

104.

105.

106.

107.

108.

109.

110.

BINS T3S DO w8 TPIA DO

(1) XO 553 doif ITTeo : Desss

(2) ABO 5% (050R @ 050 edrdEtn

(3) oo G5,  : wlvd ok J5eysTe
20G ST BoFHed

(4) 8.0, T DTS
DeIS” BOGHE g VB
(1) 290A3rR¢5wy  (Spliceosomes)  e9:0°CS

BBNS” F& oerom.
:@@6 Q) 080335 (Punnett square) 35 (¢35,
TP (PP AOTEED.

(2)

3) 005 ;S sroms o)
HrOoT .

4) 0. &9635505 wb&sboﬁa‘@& (Transduction)
é;éaﬁ"sz@.

2 Bodidd DNA (38580  (Replication)
Barrg o 300 #2° HEon ITOoTD
(1) 0%,

@)  eridomo

(3) ‘doo

@ U

BIND JoHGD 308 & a8 ook, 83 BISI0S’
28 0 SR VY0 ©d B

1) Sré

(2) D

(3) e Boen

4) Sy

‘@Y (Offsets) S0 S J0T0H0
(1) ©JDE HOS5D

(2)  D0QRSE Jafesden

(3) EonhESes eSS Defesden

(4)  ODE 8IDD0

BOGIS 2338550 HOOHDM
(1) SrErgaddon Sodako
9. LTS

o8& T8 0 SroryBE - TMV

©88 2O - FFEED eI
Erodairo 52 000 - Lac e50°%0
w% Jroré

(Pollen)

— R85 BEFS50

(2)
3
4)

ST BAHEDL

NN

(1)  $Soeden (0il content) €020
(2) 2o S°E 30BS

(3) 8o 85

4) @3356 OIS

Boresorne K)@Og
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111.

112.

113.

114.

115.

116.

Natality refers to
(1)
(2)
(3)
(4)

Number of individuals leaving the habitat
Birth rate
Death rate

Number of individuals entering a habitat

World Ozone Day is celebrated on
(D 16 September

2) 21° April

(3) 5% June

@ 227 April

Which of the following is a secondary pollutant ?
(1) SOy

(2) CO,

3 CO

(4) Og

Niche is
1)

the range of temperature that the organism
needs to live

(2)
3

the physical space where an organism lives

all the biological factors in the organism’s
environment

(4)

the functional role played by the organism
where it lives

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

Primary consumer : 60 g

Primary producer: 10 g
(1)
(2)
(3)
4)

Upright pyramid of numbers

Pyramid of energy

Inverted pyramid of biomass

Upright pyramid of biomass

In stratosphere, which of the following elements

acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Fe
2 Cl
(3) Carbon

(4) Oxygen

111.

112.

113.

114.

115.

116.

2395 Be 93058

(1) esr05m 006 IYPTFond S50 Hows
2) &5& 3ew

(3) otes Sew

4) STH505E EI80DS IiRe Doy
$503 L8750 O O B ISR

(1) 16 00

2) 21 9QanS

(3) 5

4) 22 dRAHS

BIND gHdd Te3S° DO OBAD sPeods 03
1) S0,

(2) COy

3) €O

4 Oy

DS BT QS HIHHI 90O

(1) 2 BIoSEIS SPHoRD &PUISe B0

2 o8 3588 Hew GI@rho T3 Fas
BB £ H020E $OFWODH VAL
£ 2drom

a8 &) awy), dostmo & dPHe
BB FAY $0ZEe

8D 520D BBFE &8 oD @Ay
6555@)
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117.

118.

119.

120.

121.

122,

123.

124.

The two functional groups characteristic of
sugars are

(1
(2)
(3)
(4)
Which among the following is not a prokaryote ?
(1) Nostoc

(2) Mycobacterium

(3)
(4)
The Golgi complex participates in
(1
(2)
(3)
(4)
Which of the following is not a product of light
reaction of photosynthesis ?

(1) NADPH

(2) NADH

(3) ATP

(4) Oxygen

Which of the following is true for nucleolus ?

(1)
(2)
(3)
(4)

carbonyl and phosphate
carbonyl and methyl
hydroxyl and methyl
carbonyl and hydroxyl

Saccharomyces
Oscillatoria

Respiration in bacteria
Formation of secretory vesicles
Fatty acid breakdown
Activation of amino acid

It takes part in spindle formation.

It is a membrane-bound structure.

Larger nucleoli are present in dividing cells.
It is a site for active ribosomal RNA
synthesis.

Stomatal movement is not affected by
(1)
(2)
(3)
4)

The stage during which separation of the paired
homologous chromosomes begins is

(1)
(2)
(3)
(4)
Stomata in grass leaf are
(1)
(2)
(3)
4)

O concentration
Light
Temperature

COg concentration

Diakinesis
Diplotene
Pachytene
Zygotene

Rectangular
Kidney shaped
Dumb-bell shaped
Barrel shaped

117.

118.

119.

120.

121.

122.

123.

124.
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(1) NADPH

(2) NADH

(3) ATP

(4) Oxygen
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125.

126.

127.

128.

129.

130.

131.

Secondary xylem and phloem in dicot stem are
produced by

(1)
(2)
(3)
(4)
Pneumatophores occur in
(1)
(2)
(3)
(4)
Casparian strips occur in
(1
(2)
(3)
4)
Plants having little or no secondary growth are
(D
(2)
(3)
(4)
Sweet potato is a modified
(1)
(2)
(3)
(4)

Phellogen
Vascular cambium
Apical meristems

Axillary meristems

Carnivorous plants
Free-floating hydrophytes
Halophytes

Submerged hydrophytes

Cortex
Pericycle
Epidermis
Endodermis

Conifers

Deciduous angiosperms
Grasses

Cycads

Tap root
Adventitious root
Stem

Rhizome

Which of the following statements is correct ?
(1)
(2)

Horsetails are gymnosperms.

Selaginella is heterosporous, while Salvinia
is homosporous.

(3) Ovules are not enclosed by ovary wall in
gymnosperms.

4)

Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :
(1) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(2)
3

Mushrooms belong to Basidiomycetes.

Cell wall is present in members of Fungi
and Plantae.
(4)

Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

125.

126.

127.

128.

129.

130.

131.
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132. After karyogamy followed by meiosis, spores are

133.

134.

135.

produced exogenously in

(D
(2)
3
4)

Agaricus
Alternaria

Neurospora

Saccharomyces

Match the items given in Column I with those in

Column II and select the correct option given

below :

Column I

a. Herbarium

b. Key

c. Museum

d. Catalogue

a b
(1) i
(2)
3 i
4)

iv
i1
iv

iii iv

1.

ii.

iii.

iv.

Column II

It is a place having a
collection of preserved
plants and animals.

A list that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

A booklet containing a list
of characters and their
alternates which are
helpful in identification of
various taxa.

c d

iii i

i iv

iii ii
i ii

Winged pollen grains are present in

(D
(2)
(3
4)

Mango
Cycas
Mustard
Pinus

Which one is wrongly matched ?

(D
(2)
(3
4)

Gemma cups

Biflagellate zoospores
Uniflagellate gametes

Unicellular organism

— Marchantia

Brown algae
Polysiphonia
Chlorella

132. 800 £08° Sos Bodro BUwE SEH
TS0 ¢ Deren &Y Dabassron
1) emoss

(2)  eob3oar

3) arEDns

4) 59,8 3o

S5O 1 0dasn I $Hkes $56890d D0Qd

e80 1Q0YDW ¢
SO 1

a. T00AHB 1.

133.

SO 1T

FIEDOAS 308, © 2005w
230¢0DO (DRFI®.
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308 0% WEBOY, T¢I
DO, @O DD, DI P
©8305¢50, T oD
(B3TF50.

b. & (key) i.

c. ;50?5230530 iii.

d Sererh iv. 30 D% YRS, OIS
(catalogue) OFETO BT, T¢I
DTEATQ0 EFCE® €06T°0
3® DA 9O ¢°s>y(Taxa)
70000 JPPT0 &3e008.
a b c d

iii i
iv
iii i

(1 il iv
(2) 11 i1 i
3 1
4)
2T0OINS BTN BeddHoo BAS® GosTon
(1) S

(2) 252

3

iv
iii iv i il

134.
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136.

137.

138.

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Increased respiratory  surface;

Inflammation of bronchioles

(2) Increased number of bronchioles; Increased
respiratory surface

(3) Inflammation of bronchioles; Decreased
respiratory surface

(4) Decreased respiratory
Inflammation of bronchioles

surface;

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1

Between left atrium
and left ventricle

Column I

a.  Tricuspid valve 1.

b.  Bicuspid valve ii. Between right
ventricle and
pulmonary artery

c. Semilunar valve iii. Between right
atrium and right
ventricle

a b c

(1 i ii iii

(2 i iii ii

(3) it i ii

(4) ii i iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I1
a. Tidal volume i. 2500 — 3000 mL
b. Inspiratory Reserve ii. 1100 — 1200 mL
volume

c. Expiratory Reserve iii. 500 — 550 mL

volume

d. Residual volume iv. 1000 — 1100 mL
a b c d

1 i iv ii iii

(2) il i iv ii

(3) iii ii i iv

4) iv iii ii i

136. e;%ﬁ(;&

(Geyd0)  S000KD  JoPREE T
BosTHeS  &abdd%e  PHerdod  §ol
35S TAS” HOGIDS T 1HGORD)HW

(1) == Ealr 0o DD Go; To T
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(2) A TFO Dogy PN Go; T Gobr
SO0 DI &

3) o Two TH (F8); TR Earsoo
S 5o

4) == Gardoo &N Go; TAW TEO
ey 39 (§¢)

137. 550 1 20005 I $5de% 968909 D0Qd

B0 OO0 :

300 1 300 1T
a. (BISBEIPL0 1. BN égé 00Q50 DD
235080 ;saqsg

G 2608 00050
DRG0 LGS
c. @:9(31230@"3”65 iii. & §g§ 280N HS

b. BEEETL0 i

E°e00 23505 ;saqsg
a b c
1 i ii iii
2 i iii ii
(3) it i ii
4) i i iii

138, 50 T S080x» II HHdenH $0890d $8gHS

3850 1HOODHDH0 :

5¢05 1 5¢05 1T

a. 8&S Torgo i. 2500 - 3000 2.9.

b. €T 5 D% 303 i. 1100 — 1200 20.9.
S0 e%0

c. DTG DD 309 iii. 500 — 550 20.9.
S0 e00

d. 580 205 $05r00  iv. 1000 — 1100 0.9.

a b c d

1 i iv i iii

(2 i i iv i

(3) i i i iv

4) iv iii i i
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139.

140.

141.

142,

The transparent lens in the human eye is held in
its place by

(1
(2)
(3)
(4)

smooth muscles attached to the iris
ligaments attached to the iris
ligaments attached to the ciliary body

smooth muscles attached to the ciliary body

Which of the following is an amino acid derived
hormone ?

(1) Estradiol
(2) Ecdysone
(3)
(4)

Epinephrine
Estriol

Which of the following hormones can play a
significant role in osteoporosis ?

(1)
(2)
(3)
(4)

Estrogen and Parathyroid hormone
Progesterone and Aldosterone
Aldosterone and Prolactin

Parathyroid hormone and Prolactin

Which of the following structures or regions is
incorrectly paired with its function ?

(1) production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

Hypothalamus

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(2)

Limbic system

(3) Medulla oblongata : controls respiration
and cardiovascular
reflexes.

(4) Corpus callosum band of fibers

connecting left and
right cerebral
hemispheres.
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143.

144.

145.

146.

The amnion of mammalian embryo is derived
from
(1)
(2)
(3)
(4)

mesoderm and trophoblast
endoderm and mesoderm
ectoderm and mesoderm

ectoderm and endoderm

Hormones secreted by the placenta to maintain

pregnancy are
(D
(2)
(3)
(4)

hCG, hPL, progestogens, estrogens
hCG, hPL, estrogens, relaxin, oxytocin
hCG, hPL, progestogens, prolactin
hCG, progestogens, estrogens,

glucocorticoids

The difference between spermiogenesis and

spermiation is
(1)

In spermiogenesis spermatozoa from sertoli

cells are released into the cavity of
seminiferous tubules, while in spermiation
spermatozoa are formed.

(2)

In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.
3)

In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.
4)

In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.

The contraceptive ‘SAHELT
(1) isan IUD.

(2) increases the concentration of estrogen and
prevents ovulation in females.

(3) blocks estrogen receptors in the uterus,

preventing eggs from getting implanted.

4)

is a post-coital contraceptive.

143.

144.

145.

146.
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147.

148.

149.

150.

151.

152.

Ciliates differ from all other protozoans in
(1)
(2)

using pseudopodia for capturing prey

having a contractile vacuole for removing
excess water

3
4)

using flagella for locomotion

having two types of nuclei

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1
(2)
3
(4)

Aves
Reptilia
Amphibia
Osteichthyes

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(D
(2)
3

Forewings with darker tegmina
Presence of caudal styles

Presence of a boat shaped sternum on the

9" abdominal segment

Presence of anal cerci

(4)

Which one
homeotherm ?

(D
(2)
(3)
(4)

of these animals is not a

Camelus
Chelone
Macropus

Psittacula

Which of the following animals does not undergo
metamorphosis ?

(1) Moth

(2) Tunicate
3)
4)

Earthworm
Starfish

Which of the following organisms are known as
chief producers in the oceans ?

(1)
(2)
(3)
4)

Cyanobacteria
Diatoms
Dinoflagellates
Euglenoids
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150.
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153.

154.

155.

156.

157.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1)
(2)
(3)
(4)
All of the following are included in ‘Ex-situ
conservation’ except

(1)
(2)
(3)
(4)
Match the items given in Column I with those in

Column II and select the correct option given
below :

Parasitism
Mutualism
Commensalism

Amensalism

Botanical gardens
Sacred groves
Wildlife safari parks
Seed banks

Column I Column I
a. Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
(1) il iv i ii
2) i 1ii iv ii
3 i i iii iv
4) i ii iv iii

In a growing population of a country,

o)

reproductive and pre-reproductive
individuals are equal in number.

(2)

reproductive individuals are less than the
post-reproductive individuals.

3

pre-reproductive individuals are more than
the reproductive individuals.

4)

pre-reproductive individuals are less than
the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Roots

(2) Latex

(3)
(4)

Flowers
Leaves

153.

154.

155.

156.

157.
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158.

159.

160.

161.

162.

All of the following are part of an operon except
(1) an enhancer

(2) structural genes

(3) an operator

(4) a promoter

A woman has an X-linked condition on one of her
X chromosomes. This chromosome can be
inherited by

(1) Only grandchildren

(2) Only sons

(3)  Only daughters

(4) Both sons and daughters

According to Hugo de Vries, the mechanism of
evolution is

(1) Phenotypic variations
(2) Saltation
(3) Multiple step mutations

(4) Minor mutations

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) ACCUAUGCGAU
(2) UGGTUTCGCAT
(3) AGGUAUCGCAU
(4) UCCAUAGCGUA

Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column II
a. Proliferative Phase i. Breakdown of
endometrial
lining

b.  Secretory Phase ii. Follicular Phase

158. & 308 28d) TAS” 583 2 DTRE DD 5D
1) Qﬁﬁ?\ﬁgg
(2) K)U"&W@&§ &)’5&5@@)
(8) %06
(4)  Zracead

159. &5 38 5 X Sardisnp X-oron 28 e3d.
& P50 eoS0350mr o
(1) oo S
(2)  HDBPEHO S0
(3) HXrZen HeE0
(4) DH5Fo 000K DT

160. 505 EOH S50 30857500 2OR IS0
(1) Syerems 3Dere
(2) ©o0xdoren
(3) VLI &SOSTT
4) S5 EEOSTT

161. AGGTATCGCAT 0358 a8 e3d05y) G300,
DOSEDD HOEHND S (B300. 9:50898 mRNA
2 TP SDEDI0 B DO &OoN0H

(1) ACCUAUGCGAU
(2) UGGTUTCGCAT
(3) AGGUAUCGCAU
(4) UCCAUAGCGUA

162. 50 T 080 I $hHdenH $0890d $8gHS
B30 HYOBW
3605 1 3600 I

a. 55&(%50(?536% 1. KU‘;D%OZSJ GIEF®
©083H350 Y
©HBoH

b. @955 &% i, 9)edseE

c. 2NWMEHID il ereIaired

c. Menstruation iii. Luteal Phase

a b c a b c
9 .
2 1 111 Tl (2) 1 iii 11
(3) 1i1 i1 i . .
@ i i ii (3) @i i i

(4) iii i 11
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163. Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I
a. Glycosuria
b. Gout
c. Renal calculi

iii.

iv.

c
i

1ii
iv

ii

Column I
Accumulation of uric
acid in joints
Mass of crystallised
salts within the kidney

Inflammation in
glomeruli

Presence of glucose in
urine

d
iv
iv
i

iii

Match the items given in Column I with those in

Column II and select the correct option given

d. Glomerular
nephritis
a b

(1) i iii

2 i ii

(3) iii ii

(4) iv i

164.

below :
Column I
(Function)

a. Ultrafiltration

b. Concentration
of urine

c. Transport of
urine

d. Storage of urine

a b
1 v iv
(2) iv i
3) iv v
4 v iv

ii

ii

Column II

(Part of Excretory
System,)

i. Henle’s loop

ii. Ureter

iii. Urinary bladder

iv. Malpighian
corpuscle

v. Proximal
convoluted tubule

ii
iii
il

il

163. 5505 1 000 II $55d0% 988900 DOOS

164.

e8I Q0D :
3051
a. g?maoﬁ

b. FoeS SgresSio

c. )%, SO

d. 8§ I IHTe
JDe3D

a b
(1 i iii
(2 i ii
(3) iii ii
(4) iv i

ii.

iii.

iv.

iii
iv

ii

S0 11

89,8° anroso
308

S0 (SN0E0E
éq)ﬁgédeao 30855
O35 T°3

SETISIOTO €6

SorgoS Ky
@O0

iv

iv

iii

S0 T S00ax0 1T 5 $56890d DO

e80 10Q0YBW ¢
Nlevel f

(92)

a. Kafgérveéo

b. oS s
c. oS Sorer
d. Sorgo JoPd
a b
1 v iv
(2) iv i
3) iv v
4 v iv

ii.
iii.

iv.

ii

ii

Beod 11
(IBPE 33538° grno)
Q) 85y0
Sorgrvo
Sor@eFabo
5r0y20aDS Se90
R0 D0 T

d
ii
iii
iii

iii
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165. Which of the following gastric cells indirectly

help in erythropoiesis ?

166.

167.

168.

(1)
(2)
3)
(4)

Goblet cells
Mucous cells
Chief cells

Parietal cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I

a.  Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

1 i iii ii

(2) i ii iii

(3) il ii i

4 i iii i

Which of the following is an occupational

respiratory disorder ?

(1) Botulism

(2) Silicosis

(3) Anthracis

(4) Emphysema

Calcium 1is important in skeletal muscle

contraction because it

(D

(2)

(3

4)

detaches the myosin head from the actin
filament.

activates the myosin ATPase by binding to
it.

binds to troponin to remove the masking of
active sites on actin for myosin.

prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

165. JOErovdR (eSS oywse) & 8o
BEADDED 38 SeTren

166.

167.

168.

(1)
(2)
3
(4)

R°geS Serew

STgEQ Sered

D5 e

3% B85 DBES Serrew

S50 1 308050 II SH80DH $0890D $OGHS
e80 1Q0YDW ¢

S5 1 SE05 IT
a. pOTeS L STHRS S
b. endd e toNclaty
C. SSOND iii. 35950
) BECSY

a b c
1 i iii ii
@) i ii iii
(3) i il i
4) i iii i
58 (808 TS DB SYFIE T REF oI
(1) 231&3.)5@230
(2) 22D
(3) esoEI0
(4)  odvsr
SRR Clete] H08 58 SQANO B0
DOLNEIT 98

(D
(2)

3

4)

BGPS BT 68S DD Ho0d BHIod.

DAFRS  ATP oSS 9 @avrdeo
0B,

EFISE 5OV HodrdS By, dabrde
TTO P Mo FO% FofTzon.

BBPRS @ wOoTrey HOAM e3§5 800
$0¢558° Ko wogres Ay Hote AE'RH0A.
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169. Nissl bodies are mainly composed of 169. ;’)?\)‘35‘3 oo DI A ST 0N
(1) Nucleic acids and SER (1) Sos SHrey  S0daky o) @Oe‘éé;ﬁ
(2) DNA and RNA (&Sgezroso (SER)
(3) Proteins and lipids (2) DNA 08c50 RNA
(4) Free ribosomes and RER (3) @Gé,_%;sg 3500050 2D
S
170. Which of these statements is incorrect ? 4) gy SRR ES =000 HEOH
(1) Glycolysis operates as long as it is supplied @oe§§;§@b§ @050 (RER)
with NAD that can pick up hydrogen atoms. | 170. @08 38" S0 T HB0D)B0
(2)  Glycolysis occurs in cytosol. (1) ;;_70@8335 9600:)D30 §o£§603 NAD 58300
(3) Enzymes of TCA cycle are present in 9050 OB ROHD 230D,
mitochondrial matrix. (2) RSODH ?oéﬁs@“egg 23008,
(4) Oxidative phosphorylation takes place in (3) %) éSSS"oéOﬁP@SSﬁ) ;ﬁr@ééﬁ TCA S0
outer mitochondrial membrane. Soo §b DOBH000 EOETFOD.
171. Select the incorrect match : (4) ey Do GodS efé{giﬁaﬁooé’s @%Qé&fs
(1) Submetacentric — L-shaped chromososmes 3“&3’5831}5 B0,
chromosomes 171, H0MT @S5 T H0BBM :
(2) Allosomes — Sex chromosomes 5 - - _
(3) Lampbrush — Diplotene bivalents 1) D& Der 2o - Lestd
chromosomes gsﬁya}%m@) @35"?3‘53503@3
(4) Polytene — Oocytes of amphibians (2) 5’96:@85533@ - gons @835"585333@
chromosomes 3) orodEh E3rdrswe - &3S BBy
172. Which of the following terms describe human @ 035 Erdssne - &HabITodd
dentition ? ég)w;ﬁ?eﬁg Eegren
(1) Pleurodont, Monophyodont, Homodont 172, S75% 5085 5)3"560 1809 85 355 ¥OTHSO
) o
(2) Thecodont, Diphyodont, Heterodont (1) jQXSsCZOoéS | DETEE08, $K0S0S
(3) Thecodont, Diphyodont, Homodont (2) KYSosy, &5?6650@, DR300
(4) Pleurodont, Diphyodont, Heterodont (3) NEE0B, HEFEEOY, Sod
173. Which of the following events does not occur in (4) QXSBC?OQS’ (55306(50@' X508
rough endoplasmic reticulum ? 173. S $08 B0 KD wosds (555 wrevos”
(1) Cleavage of signal peptide (RER) 2380/1¢0
(2) Protein glycosylation (1) 0S8 & sTSo
(3) Protein folding @) @S ggééiﬁ
(4) Phospholipid synthesis (3) @5 Socssaciow
@ FAOE $070en
174. Many ribosomes may assoqlate with a smgle 174, o3 8?5663‘35333&) 0% mMRNA & 8% o5 @*’@(\)aé
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are G30E); 3% JELY) ddrossorr (33 3178) ém&
termed as 3@;033. 305063 TSN DD Ko D
(1) Plastidome 1) FHES
(2) Polyhedral bodies 2) PGS worren
(3) Polysome (3) OS50
(4) Nucleosome (4) ﬁ?&%@y@em
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175.

176.

177.

178.

179.

180.

In which disease does mosquito transmitted
pathogen cause chronic inflammation of
lymphatic vessels ?

(D
(2)
3
4)

Ringworm disease
Ascariasis
Elephantiasis
Amoebiasis

Which of the following is nmot an autoimmune
disease ?

(D
(2)
3
4)

Alzheimer’s disease

Rheumatoid arthritis

Psoriasis

Vitiligo

Among the following sets of examples for
divergent evolution, select the incorrect option :
(1D
(2)
3
(4)

Brain of bat, man and cheetah
Heart of bat, man and cheetah
Forelimbs of man, bat and cheetah
Eye of octopus, bat and man

Conversion of milk to curd improves its

nutritional value by increasing the amount of
(1)
(2)
(3)
(4)

Vitamin B9

Vitamin A
Vitamin D
Vitamin E

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1)
(2)
3
(4)

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

Convergent evolution
Analogy

Homology

Adaptive radiation

a. Dominance

b Co-dominance

c.  Multiple allele

d. Incomplete dominance
e Polygenic inheritance
b,d and e

a,bandc

(1)
(2)
3
(4)

b, cand e
a,cande

175.

176.

177.

178.

179.

180.

D TRS Thoo DoEWodS  SrsEdd
Oore3§ Twod” HYsOE §¢ DK

(1) BohzEy =

(2)  &7,000700

3) &Esw

4)  ©WOHATVD

55 800 IS’ 563 HaDoB N AEGET TR 57
1) «908y 70

(2)  BOoeT0W @@éﬁv

(3) oA

4) D3R

ONTvile) B85 $02000IS Sod
GTE00d 85,8 $rEsn I8 Ho20RoDI

56H. I 1HoHDN

(1) 1E)po, LrdYP WO DDHSHD B0y,
08¢

HENOO, SPSHE D0 DHSBHD Bwy),
oG

SPHYE, KEOO S0 DNSHO By,
QYT oM

4) @500, Ko L0 IrHHD L)

T DI DXy BodIDpE T

DEREDe0HED BT oM. IS B0 oS’
RS NG

(1) 2S5 Byy
(2) dedwd A
3) Jexwo D
4) &0 E

W35 BEBHTO Jroomred @R o 050
A8 2.8 STt

(1) 9D\E J0e5°00

(2) @o:io‘@;ﬁoso

(3) i)c"&seﬁm o

(4)  &Baoy D3Be00

255%‘60“@@65 ‘dgéég 0903503888 N Ss SE{OV
@@é’)cﬁso NESREY Jovy

ROSFY 2SS0

R TS B B

2I5TOL TN :)gel'b&)

BJ0ITY TP EB0

235023880 €9:00503%e3

b, d <0 e

a, b o0&y ¢

b, c o0&y e

a, c 0 e

(2)
3

°©pe T

(D
(2)
3
4)

ACHLA/AA/Page 41

SPACE FOR ROUGH WORK

English/Telugu



SPACE FOR ROUGH WORK

ACHLA/AA/Page 42



SPACE FOR ROUGH WORK

ACHLA/AA/Page 43



Read carefully the following instructions :

1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as per
Rules and Regulations of this examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.

(E08 SISOl e (NEN &350 ¢

1.

3B D BE ITRATRY ©EAIDD
@050 56 (Admit Card) 5 <3007,

XrH0080G0eT/adiEdtbe  BBE  widS
89, 0 ITRRTEI 85 e IED
DHErE.

IR0 waren  DEEy RIS

98 Y58 Al 3 Al
FORSLWD  FIEOE  DADLD  BHITED.
OBoGSy J(Bo P Tok Ty Poso JaUrd.

SoESFO Nod¥o RS, amm H(Bo
BBE T T $0) BAS W BT et

JOFE/L7ISS 5905080 ATBoUBEFI6.

ITRATRY w0 HOFHOS  FE By,
QeJodos  wewihorr «owed. lsKel
SooMoedd S5 DPouHseontndod S
BT

585 DRESH WO ey B0 By, D
ETHSND ErE DR,

DTGRTRY OGS 98y DRy F&ED, 96y
DYFofTan BB Edur, oGy
SIS0 Trasrd.
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